Review 5.1-5.2

Ex1) Solve the system by graphing.  Ex2) Solve the system by substitution.
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5.3 Solving the System by Elimination

Elimination: to cancel out either the x or y by adding

two equations.
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Since the x has one positive and one negative, the x's
cancel out by adding both equations.
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Rearrange the equation to the right setting before solving:
hnth x and y are on the same side and the number is on the
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If Nothing Cancels Out: you need to multiple one or
both equations by a # to get either the x or y to

cancel out.
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4x+9y=-7

Need to rearrange the equation!! > i

L/-WB

+ M ™

K44y = 5
'{xﬂrﬂ'j"'

-y



“([x+2y=0-2L | 5 —-x-24 =2 - -
Tryrh.is}qx ’ ) ? X -4 -1-?3.. 2
4I+2}?=—]? — Yy E‘y = -3 +5 +5

—

IX = -15 2

(C
3 1
blw W

= -5

Solwdow : 'j )= (-5 i;_)



Need to have the same positive and negative number in
front of x or y.

So, you may either multiply “-3" to the first equation to
eliminate the x's or multiply “-8" to the first equation to
eliminate the y's.
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F/ Y glgx ~3y=1 ) You need to try to get the x or y to cancel out, so you need to
xY

~ multiply one or both equation by a #. (look for a positive & a
3 (5x+4y=14 ) negative to cancel)
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